
- s() = IIE't)/l = speed

r'(t) = S(t)T(t)

F"(t) = S'(t)T + ST't)

= s'(t)T + SIIt'll I'
It'll

= s'(t) + SIT11i

Acceleration his two components one tamental

and Meother Normal,

Tarential compet : sit) hou is the spend
Cages,

Normal is about turns instad,

i "(t) .T = 4)

aT

5"IE) ·- = an nonoal componentof accelented,



(usually 11F"- E"F1)) cus t is a paint

↑ (t) = <cos(t2)
, sin(t2)]

rit) = [Itsin /E27
,
It costEx)

T(t) = Losin 14
, 10s(t47

F"(E) = < -2 sin1E4
, Lag14) + 74eEcos(t)

,
-

HERE)]

For" = +2

targential component a+
=2

↑"(t) - Fr T =
-42 [10g/t2)% sin(E2)]

11 "(t)-Fir "Fll= 42
L

an

-

F = L-Itai),Zt smIt2)7
E = (cos12 , Su(t)7



Section 14
.

1 Multivate functions

& (

pressure .

Let us suppose n is fixed but
V
,
T
are of

P = (R) T/V determines pressure

as a function of temp
and volume

# you cantall + d v .

-> P is told book to you



P

A·damac
woo . IIIII:



Let's visualize some functions of X
. T.

f(x
,y) = x2 +y

Grap : (x , Y , * = f(x,1)[X
(X , y = f(x) in old days

(x ,4, x= +yz)
z = x2 ,fy=0

z= yz +fX = 0*-



Contour plot
Y

#



e
. g . f(x

,y) = exp) -xi- yz)

E-
contour plat.
E

.



flxiy) = xY
Xy = 0

c=-#



We can also have functions of

3 vacables · It's had to graph then

(don't have t dims)

But we ca still talk about level
sels,

F(x,yz]= F +z2

Level set v : splice ofmag r.


